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S =0.32x18 (mm)
(14) AHIIAFL AR
GESKARE-HOKE -BFRAEEX2-FAREX2-HOES
=24.6-1%X2-2%x2-0.6=18 (mm)
NEBRVMEEH =18+ (2x0.45) +1.1=18, #£FH54-18=3 R, RALRLE, S4AHE, B4
MR,
KESVEAGE—E, #F=2
KE RVOEARBBHER=18< (6x0.62) +1.1=4, F—F
HEZRFAABEIR, HTH/MRE, SAHFIWE6—30 Fix,
3 (15) KMEHSYOHR
MRGEEEE =0.45%X4%1.15=2.07 (mm)
7 SVZEHBE= (0.32+0.1) x3X1.15=1.5 (mm)
: 12V S04 B E =0.62X1%1.15=0.71 (mm)
8 RMWMMEE=1+2.07+0.15x2+1.5+0.15+0.71
+0.15=5.73 (mm), M FHORE,

4 Uil sy 1
AT N T T O Ta T O LT N O MBBHETHELE=2X% (9.5+2%5.73) =66 (mm)
Be—30 HELRAR SVEHEATFHEK=2% (9.5+2.07+0.15%x2+1.5)
=42 (mm)

RVEHAPHEK =X (9.5+2.07+0.15X2+1.5X2+0.15%2+4+0.71) =50 (mm)
(16) #EBEITRE

BARKHEEHNTRETERE, FUMUTAERSSEHE,

54X66x107° 234.5+20+50

rq=0.0172 X =0.292 (Q)
! 2)(%)(0.42 234.5+20
_ 3X42x107%  234.5+20+50 _ _3
ra=0.0172x 25 5o X 22t 2E =0.45 X 1072 ()
-3
ra=0.0172 £230X10 2431040 69 10-3 (q)
6X—}X0.572 :
(17) AR F
e,
P.=0.292X1.172+0.45X1073%26.82+2.69x 10" 3% 7.22=0.863 (W)
WLOHE.
P,=0.287x (0.17x10)2x50'*%¥x6.47x1073=1.55 (W)
TEBEBIE.
P,=0.863+1.55=2.42 (W) ooooooo
BRARM.
q=i‘25—'1221=0.0533 (W/em?)
HEEH6—22 ik, BEF N 2T, MTHAEERFA.
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此值从何而来？




